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Section A- Geography 

1. Which one of the following is the most important
factor in the interaction between people and
environment?
a. human intelligence
b. people’s perception
c. technology
d. human brotherhood

निम्िलिखित में से व्यक्तत और पययावरण के बीच 
परस्पर क्रियय में सबसे म्वपवपण्ा कयरक  ्?
a. मयिव बदु्धि
b. िोगों की धयरणय
c. प्रौद्योगगकी
d. मयिव भयईचयरे

2. Which one of the following continents has the
highest growth of population?
a. Africa
b. South America
c. Asia
d. North America

निम्ि में स े क्रकस म्यद्वीप में जिसखं्यय कय 
उच्चतम वदृ्धि   ्?
a. अफ्रीकय
b. दक्षिण अमरेरकय
c. एलियय
d. उवपतर अमेररकय

3. Which one of the following is not an area of
sparse population?
a. The Atacama
b. South-east Asia
c. Equatorial region
d. Polar regions

निम्ि में से कौि सय द्धवरि आबयदी कय िेत्र ि्ी ं
 ्?

a. अटयकयमय
b. दक्षिण-पव्ा एलियय
c. भम्ध्यरेिीय िते्र
d. ध्रुवीय िते्र

4. In which of the following regions has the oldest
well-documented urban settlement found?
a. Huang He Valley
b. Indus Valley
c. Nile Valley
d. Mesopotamia

निम्ि में से क्रकि िते्रों में सबसे परुयिी अच्छी 
तर् से प्रिेखित ि्री आबयदी व्यवस्थय  पययी गयी 
 ्?

a. ्ुआंग वेिी b. लसधंु घयटी
c. िीि व िी d. मेसोपोटयलमयय

5. Which one of the following countries has the
highest sex ratio in the world?
a. Latvia
b. United Arab Emirates
c. Japan
d. France

निम्िलिखित देिों में से कौि सय दनुियय में सबसे 
ज्ययदय लिगं अिपुयत  ्?
a. ियटद्धवयय
b. सयंतुत अरब अमीरयत
c. जयपयि
d. फ्रयंस

6. Which one of the following scholars introduced
the concept of Human Development?
a. Prof. Amartya Sen
b. Ellen C. Semple
c. Dr Mahabub-ul-Haq
d. Ratzel

निम्िलिखित में से क्रकस द्धवद्वयि िे मयिव 
द्धवकयस की अवधयरणय को पेि क्रकयय?
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a. प्रो अमवपया सेि
b. एिेि सी। सेमीिेबि
c. डॉ। म्यबब्-उि-्क
d. रयटेि

7. Which one of the following types of industries
produces raw materials for other industries?
a. Cottage Industries
b. Small-scale Industries
c. Basic Industries
d. Footloose Industries

निम्िलिखित उद्योगों में से कौि सय उद्योग 
अन्य उद्योगों के लिए कच्चे मयि कय उवपपयदि 
करेगय?
a. कॉटेज इंडस्रीज
b. िघ ुउद्योग
c. बेलसक इंडस्रीज
d. फुटिोोोज इंडस्रीज

8. Which country has the highest density of railway
network?
a. Brazil b. U.S.A
c. Canada d. Russia

रेिवे िेटवका  कय सबसे अगधक घिवपव क्रकस देि में 
 ्?

a. ब्रयजीि b. य.्एस.ए.
c. कियडय d. रूस

9. Which one pair of the following places is linked by
Channel Tunnel?
a. London – Berlin
b. Paris – London
c. Berlin – Paris
d. Barcelona – Berlin

निम्िलिखित स्थयिों में से एक जोडी सरंुग 
प्रणयिी से जुडी ्ुई  ्?
a. िदंि - बलिाि
b. पेररस - िदंि
c. बलिाि - पेररस
d. बयलसािोिय - बलिाि

10. Which one of the following forms of settlement
develops along either side of roads, rivers or
canals?
a. circular b. linear
c. cross-shaped d. square

सडकों, िददयों यय ि्रों के दोिों क्रकियरों पर 
निम्िलिखित प्रकयरों में स ेकौि सय आबयदी प्रकयर 
द्धवकलसत ्ोतय  ्?
a. वतृयकयर b. र खिक
c. िॉस-आकयर d. वगयाकयर

Section B- History 

11. Which of following rules of Vijayanagara used to
have eight great poets in his court?
a. Krishnadev Rai
b. Devarai first
c. Devarai second
d. Achyut Devrai

द्धवजयिगर के क्रकस ियसक के दरबयर में आठ सवाशे्रस्ठ 
कद्धव र्त ेथे ?

a. कृषणदेव रयय
b. देवरयय प्रथम
c. देवरयय ददवतीय
d. अच्युत देवरयय

12. Which king of Tekshila had invited Alexander to
invade India?
a. Aambhi
b. Ashtak
c. Poras
d. Shashigupta

तक्षििय के क्रकस रयजय िे लसकंदर को भयरत प े
आिमण करिे कय निमतं्रण ददयय थय ?

a. आम्भी b. अष्टक
c. पोरस d. िलिगपु्त

13. Great scholar of Sanskrit, Patanjali, was
contemporary of this ruler ?
a. Simuk
b. Devmurti



SAMPLE
 

QUESTIO
NS

Page 3 Class 12 (Humanities) 

c. Ashoka
d. Pushyamitra Shung

ससं्कृत के म्यि ज्ञयिी पतयंजलि क्रकस के ियिि 
कयि में ्ुए थे ?

a. लसमकु b. देवमन्त ा
c. अिोकय d. पषु्यलमत्र िुगं

14. Who was the founder of Nalanda University?
a. Samudragupta
b. Skandgupta
c. Harshvardhan
d. Kumaragupta first

ियिदंय द्धवक्ववद्ययिय की स्थयपिय क्रकसिे की थी "
a. समदु्रगपु्त
b. स्कंदगपु्त
c. ्षावधाि
d. कुमयरगपु्त प्रथम

15. The first Turkish ruler to invade India, who used
to rule Ghazni
a. Mahmood Ghajnavi
b. Muhammad
c. Gauri Gahasudin
d. Subuktageen

भयरत पर आिमण करिे वयिय प्िय तकुी ियसक 
जो गजिी पे सयम्रयज्य करतय थय 
a. म्मद् गजिवी
b. मो्म्मद गौरी
c. गययसदु्दीि
d. सबुतुतगीि

16. Whose statement was "Return to the Vedas"
a. Raja Ram Mohan Rai
b. Swami Vivekananda
c. Dayanand Saraswati
d. Keshchandra Sen

"वेदों की ओर िौटों" क्रकसकय कथि  ् 
a. रयजय रयममो्िरयय
b. स्वयमी द्धववेकयिदं
c. दययिन्द सरस्वती

d. केिचन्द्र सेि
17. Seleucus sent which of his ambassador to the

court of Chandragupta Maurya
a. Justin
b. Henson
c. Megasthenes
d. Megasthenes

सेल्यक्स िे अपिे क्रकस रयजदत् को चन्द्रगपु्त 
मौया के दरबयर में भेजय थय
a. जक्स्टि b. ्वेिसयंग
c. मेगस्थिीज d. चयणतय

18. Mahatma Gandhi participated in which Round
Table Conferences as the sole representative of
the Congress
a. First b. Second
c. Third d. All three

कयंग्रेस के एक मयत्र प्रनतनिगध के रूप में म्यवपमय 
गयाँधी िे क्रकस गोिमेज सम्मिेि में भयग लियय 
a. प्रथम b. ददव्तीय
c. ततृीय d. तीिो

19. Under which act the separate electoral system for
Muslims on communal basis was started
a. 1909 Act
b. 1919 Act
c. 1935
d. None of the above

सयंप्रदयनयक आधयर पर मकु्स्िमो के लिए पथृक 
निवयाचि प्रणयिी क्रकस अगधनियम के अतंगात िरुू 
्ुई
a. 1909 के अगधनियम
b. 1919 के अगधनियम
c. 1935 के अगधनियम
d. उपरोतत में से कोई ि्ीं

20. Great Indian mathematician Aryabhatta was
contemporary of
a. Chandragupta Morya
b. Vikrmaditya
c. Ashoka
d. Akbar
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म्यि भयरतीय गखणतज्ञ आयाभट्ट क्रकसके
समकयिीि थय ?
a. चंद्रगपु्त मौया
b. द्धविमलमडडयय
c. अिोक
d. अकबर

Section C- Political Science 

21. How John Rawls validated his Principle of Justice
in his book "A Theory of Justice" 
a. Corrective justice
b. The cover of ignorance
c. Maximum comfort of maximum people
d. Distributive justice

जॉन राल्स न े अपने पुस्तक “ए थ्योरी ऑफ जस्स्िस” में

अपने न्याय सम्बन्धी स्सद्ाांत को ककस रूप से सम्पाकित

ककया है

a. सुधारात्मक न्याय

b. अज्ञानता का आवरण

c. अस्धकतम लोगों का अस्धकतम सुख

d. स्वतरणात्मक न्याय

22. “Administration towards  villages / cities”, is part
of which type of political participation. 
a. Beginner
b. Reciprocity
c. Public hearing
d. Mercy

प्रशासन गावों/शहरों की ओर काययक्रम राजनीस्तक

सहभास्गता के ककस अस्भकरण का स्हस्सा है

a. आरांभक

b. प्रत्याह्वान

c. जनसुनवाई

d. पररपृच्छा

23. United Nations Organization’s Climate Change
Conference on Climate Change held at which 
place  
a. Kyoto (Japan)
b. lima (Peru)
c. Paris (France)
d. Rio de janeiro (Brazil)

जलवायु पररवतयन पर सांयकु्त रास्त्र सांघ जलवायु पररवतयन 

सम्मलेन 2015  ककस स्थान पर आयोस्जत ककया गया था  

a. क्योिो (जापान)

b. लीमा (परेू)

c. पेररस (फ़्ाांस)

d. ररयोडी जेनेररयो (ब्राजील)

24. To impose extra taxes on the income of the rich
and to use this amount in poor welfare. This is the
goal of which ideology
a. bourgeois
b. Socialist
c. Extreme
d. Individualist

धनवानों की आय पर अस्तररक्त कर लगाना और इस राशी

का उपयोग स्नधयन कल्याण में करना कौन सी स्वचारधारा

का लक्ष्य है

a. पूजीवािी

b. समाजवािी

c. अस्तवािी

d. व्यस्क्तवािी

25. What is the special provision in the Constitution
for the upliftment of traditionally exploited and
marginalized people
a. Everyone's home
b. Provision of reservation
c. Panchayati Raj system
d. None of these

परम्परागत रूप से शोस्ित और हास्शये पर स्स्थत लोगों के

उत्थान हते ुसांस्वधान में कौन सा स्वशेि प्रावधान है

a. सभी को आवास

b. आरक्षण की व्यवस्था

c. पांचायती राजव्यवस्था

d. इनमें से कोई नहीं

26. Caste is an important party in India – This is the
statement of which scholar
a. Mahatma Gandhi
b. Swami Vivekananda
c. jaiprakash narayan
d. Sardar Patel

जास्त भारत में एक महत्वपूणय िल ह ै– यह ककस स्वद्वान 

का कथन ह ै 

a. महात्मा गााँधी
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b. स्वामी स्ववेकानांि

c. जयप्रकाश नारायण

d. सरिार पिेल

27. Which of the following does mismatch in the list
of programs being run by the Government of
India for development of backward areas?
a. Tribal area development program
b. Hilly area development program
c. Mortality development program
d. Women development program

स्पछड़े क्षेत्रों के स्वकास हतेू भारत सरकार द्वारा चलाये जा

रह ेकाययक्रमों की सूस्च में कौन सा बेमेल ह ै?

a. जनजास्त क्षेत्र स्वकास काययक्रम

b. पहाड़ी क्षेत्र स्वकास काययक्रम

c. मरू स्वकास काययक्रम

d. मस्हला स्वकास काययक्रम

28. Why the act of monetization was implemented /
a. Curb excessive currency
b. To bring out black money
c. To bring out bad notes from circulation
d. This is a regular process

स्वमुद्रीकरण क्यों लाग ूककया गया /

a. मुद्रा की अस्धकता पर अांकुश लगाने के स्लए

b. काला धन बाहर लाने के स्लए

c. किे एवां ख़राब नोिों को प्रचलन से बाहर लाने के स्लए

d. यह एक स्नयस्मत प्रकक्रया है

29. Joint Organization of the United Nations
Organization for the Promotion of Education and
Cultures
a. World bank
b. World Health Organization
c. UNESCO
d. International Monetary Fund

स्शक्षा एवां सांस्कृस्तयों के प्रसार हते ु सांयुक्त रास्त्र सांघ की

एजेंसी है

a. स्वश्व बैंक

b. स्वश्व स्वास्थ सांगठन

c. यूनेस्को

d. अांतरास्स्त्रय मदु्रा कोि

30. India's reason for not signing the widespread
molecular dispensation prohibition treaty CTBT
a. National security
b. Boost promotion

c. Faith in the United Nations Union
d. Exterior pressure

भारत के व्यापक अणु प्रसार स्निेध सांस्ध CTBT पर

हस्ताक्षर नहीं करने के कारण था

a. रास्रीय सुरक्षा

b. शस्रत्रकरण को बढ़ावा

c. सांयुक्त रास्त्र सांघ में आस्था

d. वाह्य िबाव

Section D – English 

Directions (Q. No. 31 to 34) Complete this 

passage by selecting the most suitable 

word/phrase from list to fit the corresponding 

gap. 

One of the most brutal features of gender 

inequality takes the form of physical violence 

against women. The 31. _ _ of such violence is 

remarkably high, not only  in poorer and less 

developed economies, but also in wealthy and 

modern societies. Indeed, the 32. _ _ of 

battering women even in the richest and most 

developed economies is 33. __________________ 

high. Turning to India, it must be 34. 

________________ first that  the frequency of 

assaults on women is high in the country and 

the society needs to do something about it. 

31. Which of these fits gap 31?

a. frequency b. occurrence

c. event d. chance

32. Which of these fits gap 32?

a. relatively b. clearly

c. undoubtedly d. astonishingly

33. Which of these fits gap 33?

a. accomplished

b. acknowledged

c. cleared

d. understand

34. Which of these fits gap 34?

a. expectations b. counting
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c. incidence d. acceptance

Directions (Q. No. 35 & 40) Read the 

following information in passage and answer 

the questions given below. 

Depletion of other minerals on a global scale in 

some what difficult to determine, partly 

becasue recycling complicates the issues, partly 

because trade goes on in all directions and 

partly because one material can sometimes be 

replaced by another. Figures from the US 

Geological Survey indicate that within the US 

most types of minerals and other non-

renewable resources are well past their peak 

dates of production. Besides oil, these include 

bauxite (peaking in 1943), copper (1998), iron 

ore (1951), magnesium (1966), phosphate rock 

(1980), potash (1967), rare Earth metals (1984), 

tin (1945), titanium (1964) and zinc (1969). The 

depletion of these resources swiftly inspite of 

recycling. 

In the past, it was iron ores such as natural 

hematite (Fe2O3) that were being mined. For 

thousands of years, also tools were produced 

by melting bog iron, mainly goethite, FeO(OH), 

in clay cylinders only a meter or so in height. 

Modern mining must rely more heavily on 

taconite, a flint like ore 

containing less than 30% magnetite and  

hematite. 

Iron ore of the sort that can be processed with 

primitive equipment is becoming scarce, in 

other words and only the less-tractable forms 

such as taconite will be available, when the oil 

powered machinery has disappeared a chicken 

and egg problem. To put it more bluntly with 

the types of iron ore used in the past, a fair 

proportion of the human race would have been 

able to survive in the post-industrial world. 

With taconite it will not. 

35. What prevents the determination of depletion

of other minerals on a global scale?

a. Recycling

b. Trade goes on in all directions

c. One material replaced by another

d. All of these

36. The depletion of which resources continues

swiftly in spite of  recycling

a. oil

b. magnesium

c. titanium

d. All of these

37. Which was the ancient iron are being  mined?

a. Fe2O3

b. FeO(OH)

c. Taconite

d. Magnetite

38. Which of the following iron ore is found in in

less tractable forms?

a. Fe2O3

b. FeO (ore)

c. Taconite

d. Magnetite

39. Which mineral became scarce in year  1984?

a. Copper

b. Rare Earth metal

c. Titanium

d. Zinc

40. Which mineral became scarce in year 1966 and

required recycling?

a. Magnesium

b. Potash

c. Zinc

d. Copper

Section E – Logical Reasoning 

In the following questions 41 to 45 questions 

numbers are arranged in a series with come 

principles understanding it. One term in the 

series is missing as shown by     . This term is 
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given as one of the alternative amongst the 

four numbers given below it. Find this term 

and show your answer against the question 

number on the answer sheet. 

निम्ननिखित प्रश्नों में 41 से 45 प्रश् सोंख्याएों  एक श्रोंििा 

में व्यवखथित की की गयी है. शोंििा में एक सोंख्या गायब 

है. निए गए नवकल्नों में से सही कन चुिे  

41. 48, 35, 24,    , 8, 3.

a. 14 b. 15

c. 16 d. 12

42. 12, 20, 30, 42,  , 72 

a. 50 b. 52

c. 56 d. 58

43. 17, 22, 26, 29,  , 32 

a. 30 b. 31

c. 32 d. 29

44. 144, 100, 64,  , 16, 4 

a. 32 b. 34

c. 36 d. 40

45. 22, 33, 46,  , 78, 97 

a. 60 b. 61

c. 62 d. 67

46. If POUND is written instead of DNUOP, what is

written for MEGIK?

यनि POUND कन DNUOP नििा जाता है तन MEGI

क्या नििा कन जायेगा

a. KIMEG b. KIGEM

c. KGIEM d. KEGIM

47. If REWOL is written for FLOWER, what is written

for MARKET? .

यनि REWOL कन FLOWER नििा जाता है तन MARKET

कन क्या नििा जायेगा

a. TEKRMA b. TEKRAM

c. TEKAMR d. TEKMAR

48. If PCAT = TACP and RBED = DEBR are written,

what is written for DCAB?

यनि PCAT = TACP and RBED = DEBR तन DCAB

कन क्या नििा जायेगा

a. BACD b. ABCD

c. BADC d. ABDC

49. If ABCD is written ZYXW in code language, what

is written for EFGH in code language?

एक कनड भाषा में यनि ABCD कन ZYXW नििा जाता है

तन EFGH कन क्या नििा जायेगा

a. VUST b. UTSR

c. STUV d. VUTS

50. If in any language ROAST is written by PQYUR,

how SLOPPY is expressed?

एक कनड भाषा में यनि ROAST कन PQYUR नििा जाता

है तन SLOPPY is कन क्या नििा जायेगा

a. MRNAQN b. NRMNQA

c. QNMRNA d. RANNMQ
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